AMEETAYHL T YRR—ILER

OFfE&H: 20154 8H 308 HEEH OHE4H: %F39[E) —J B
O &FAEEFZI:  17:00 o= B: A= NEE SR
OREHRTHEZ: 19:25 OXfz:-£Y Offi: A
F—1% 1Q 2Q 3Q 4Q TOTAL B
fBE K2 14 14 42 18 OB
BRIk K2 0 14 0 0 14 Of 1B
FafgiE
F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
fBEKXZ 1 6:56 run #63 L 1 K #19E K G
BRIk K2 2 0:54 pass #1255 A —#25R R 20 K #3374 K G
BRIk KZ 2 6:06 run #1255 H 21 K #331E AR G
& @ K F 2 6:42 pass #16F N —#88h | 75 K #198 A G
=K 2 7:38 run #27F K 9 K #1982 & G
fEE K% 3 1:46 PR #12TE 21 K #19= &K G
fBEKXZ 3 11:00 run #2742 83 K #198 K G
fEE K2 4 7:07 run #27HR A 20 K #19E K G
F — L 4 f& [ KF Biek K=
1.77—ARE Y mE# (5> — /X — KAl 10( 7— 33— 0) 11( 4— 5— 2)
2.8 A —HIo2—tTh 13—5—1 25—6—1
gev—r | 130vds | 129Vds
3TV E#—EFVY—F 25— 184Yds 37— 99Yds
4 E E#H—ER[FVY—F 38— 314Yds 62— 228Yds
5.5 8l E#H—EKVY—F 3— 45Yds 7— 40Yds
6.77>T )L [E] % — 3R X 1—1 2—1
7.74—I)LFI—)L Bl ¥ — R Zh 0—0 0—0
8. R — LFT F B 19:09 28:51
9.3rd—down Conversion 2/7 415
10.4th—down Conversion 00 1.3
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HMFETA)HTybR—)LERR

EPNERE - EC b))
o>
NO. Z=X: 1] El#{ Yards TD =K Fiy
21 K KB T 11] 166] 3] 83[15.1
28 #iiB8 ahFm (1] 5 o 5 5
6 #FF Hs [ 11] 17] 1] 12[155
16 #HN ZFH [ 2] -4 of 7] -2
® /R
NO. 1] El% BThA—+tYards TD &K F1
[ 16 FHMA 288 [ 13] 5] 1] 130] 1] 75]
oL —T
NO. Z=x:[] El#{ Yards TD =K Fiy
88 R — 1t T~ 2] 84 1] 75] 42
91 ;thH & A [ 1 3[ o] 3] 3
19 EA& /50 [ 2] 43] o] 23[215
® XvoF7
NO. LI Bl#Yards 1 2 3 4 10
[ 11 F £ [ 7] 352] 48] 37] 42] 52]
[ WAWLS
NO. Z=x: 1] [E]%4 Yards 1 2 3 4 10
RS T 5[ 130] 3a] 22] 37] 9]
QxXVvOAT-)3—>
NO. LI Bl¥Yards TD 1 2 3 9 10
| 6 FHE Hs [l 2] 271 of 20] 7]
@ Nk YI—>
NO. Z=X: 1] El% Yards TD 1 2 3 9 10
6 FF HH [ 1] 56] of 56
21 K K8 (3] 7] o 4 12[ -9
12 TE EE [ 1] 21 1l[ 27
® QBY vy
NO. LI Bl#iYards 1 2 3 4 10
74 HF KN [ 1 6] 6
12 FE B I 1 3 3
® 15—t T+
NO. Z=x: 1] El%{ Yards TD 1 2 3 9 10
[ 9fEXkE [ 1f 17] of 17|




B A GEE% Bk K%

HIMBETA)HTYRR—)LE
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i

B ANk FREKKE)
o>
NO. Z=X: 1] El#{ Yards TD =K Fiy
24 LI & [ 6] 4] o] e6[0.67
IR EFA [ 9] 51] o] 25[5.67
12 55H ¥ [ of 42] 1] 21| 4.67
28EE MAA I 13] 2] o] 3015
® /R
NO. 1] El% BThA—+tYards TD &K F1
[ 12 5@ ¥ I 25] 6] 1] 129] 1] 42]5.16]
oL —T
NO. _ Z=x:[] El#{ Yards TD =K Fiy
25 kR 1% [ 3] 69] 1] 34] 23
96 BErh X [ 1] 10] o 10] 10
ERNESS [ 1] 42] o] 42 42
2 Z PN [ 1 g o 8 8
® XvoFo
NO. LI B34 Yards 1 2 3 4 5 6 10
| 38HEAFA [l 3] 147]] 63] 59| 25| I I I
[ WAWLS
NO. Z=X: 1] [E]%4 Yards 1 2 3 4 5 6 10
[ 33 8K HA [ 6] 182]] 38| 38] o] 30| 39] 37|
QxXVOAT-)3—>
NO. C4:0] E#tYards TD 1 2 3 4 5 9 10
25 kR 12 I 6] 74] of 271 2] 7] 20] 11
63 15k =X I 11 of of o
@ Nk YI—>
NO. Z=X: 1] El%{ Yards TD 1 2 3 4 5 9 10
255k R 1% 1 of] of o
96|BEh EX 1| 15| of 15
® QBY vy
NO. LI B34 Yards 1 2 3 4 5 6 10
[ 33 H/AFA | I I O O I
® 15—t T+
NO. Z=x: 1] El%{ Yards TD 1 2 3 4 5 9 10
[ 24[i)1 & | 11 16/ of 6] | [ [ |




